## Procedia

Engineering

# Hermite Positive Definite Solution of a Class of Matrix Equation 

Panpan Liu ${ }^{\text {a }}$, Shugong Zhang ${ }^{\mathrm{b}}$, Qingchun Li ${ }^{\mathrm{c}} \mathrm{c}^{*}$<br>${ }^{a, b}$ Mathematics School \& Institute of Jilin University, Changchun, Jilin, 130012, PR China<br>${ }^{c}$ Department of Mathematics, Beihua University, Jilin, Jilin, 132013, PR China


#### Abstract

In this paper, the Hermite positive definite solutions of the nonlinear matrix equation $X^{s}+A^{*} X^{-t} A=Q$ are discussed. A sufficient condition and two necessary and sufficient conditions for the existence of Hermite positive definite solutions for this equation are derived. The existence of minimal Hermite positive definite solution is also studied here, and an iterative method for obtaining the minimal Hermite positive definite solution is given.


© 2011 Published by Elsevier Ltd. Open access under CC BY-NC-ND license.
Selection and/or peer-review under responsibility of [CEIS 2011]
Keywords: Nonlinear matrix equation; Hermitian positive definite solution; Minimal solution; Iterative method

## 1. Introduction

This paper considers the nonlinear matrix equation

$$
\begin{equation*}
X^{s}+A^{*} X^{-t} A=Q \tag{1}
\end{equation*}
$$

where $A, Q$ are $n \times n$ complex matrices and $A$ is nonsingular, $Q$ is Hermite positive definite, $A^{*}$ stands for the conjugate transpose of the matrix $A . \mathrm{s}$ and t are positive real numbers.

[^0]This class of matrix equation often arises in dynamic programming, control theory, stochastic filtering, statistics, and so on. It has been extensively studied by several authors, and some properties of the solutions have been obtained[1-9].

Some authors considered the equation in the case that $s=1, t \geq 1$ or $0<t \leq 1$ [3-5]. Some other authors discussed these equations for particular choices of $t$ and matrix $Q$, where $s=1$. For example, the case $t=1$ is studied in [6], and for $t=2$ and $Q=I$, see [7]. A more general case is $t=n$, which is discussed in [8,9].

In this paper, we study the properties of Hermite positive definite solutions and discuss the necessary conditions and sufficient conditions for the existence of Hermite positive definite solutions of Eq.(1). Then we consider the existence of minimal Hermite positive definite solution, and propose an iterative method to obtain the minimal Hermite positive definite solution of Eq.(1).

The following notations are used through out this paper. For $n \times n$ complex matrix $A$, $\lambda_{\text {min }}(A)$ and $\lambda_{\text {max }}(A)$ stand for the minimal and maximal eigenvalues of matrix $A$, respectively. $A>0$ $(A \geq 0)$ denotes that $A$ is a positive definite(semi-definite) matrix, and $A>B(A \geq B)$ means $A-B$ is positive definite(semi-definite).

## 2. Main results

Theorem 1 Eq.(1) has a Hermite positive definite solution if and only if there is a nonsingular matrix $W \quad$, such that $W^{*} W=W W^{*} \quad \psi \psi \psi \psi \psi \psi \quad A=\left(W^{*} W\right)^{t / 2} Z Q^{1 / 2} \quad$, where $\left(W^{s} Q^{-\frac{1}{1} / 2}\right)^{*}\left(W^{s} Q^{-1 / 2}\right)+Z^{*} Z=I$. In this case, Eq.(1) has a Hermite positive definite solution $\psi X=W$ * .

Proof If $X$ is a Hermite positive definite solution of Eq.(1), then there is unique Hermite positive definite matrix $W$, such that $X=W^{2}$ (see [10]). Substituting $X=W^{2}$ into Eq.(1) gives

$$
W^{2 s}+A^{*} W^{-2 t} A=Q
$$

Noticing that $W$ and $Q$ are Hermite positive definite, then we have

$$
\left(Q^{*}\right)^{-1 / 2}\left(W^{*}\right)^{s} W^{s} Q^{-1 / 2}+\left(Q^{*}\right)^{-1 / 2} A^{*}\left(W^{*}\right)^{-t} W^{-t} A Q^{-1 / 2}=I
$$

that is,

$$
\left(W^{s} Q^{-1 / 2}\right)^{*}\left(W^{s} Q^{-1 / 2}\right)+\left(W^{-t} A Q^{-1 / 2}\right)^{*}\left(W^{-t} A Q^{-1 / 2}\right)=I
$$

Let $Z=W^{-t} A Q^{-1 / 2}$, then $A=W^{t} Z Q^{1 / 2}=\left(W^{*} W\right)^{t / 2} Z Q^{1 / 2}$ and

$$
\left(W^{s} Q^{-1 / 2}\right)^{*}\left(W^{s} Q^{-1 / 2}\right)+Z^{*} Z=I
$$

Conversely, if there is a nonsingular matrix $W$, such that $W^{*} W=W W^{*}$ (义 and $\psi A=\left(W^{*} W\right)^{t / 2} Z Q^{1 / 2} \quad$, where $\left(W^{s} Q^{-1 / 2}\right)^{*}\left(W^{s} Q^{-1 / 2}\right)+Z^{*} Z=I$, let $X=W^{*} W \psi$ then

$$
\begin{aligned}
X^{s}+A^{*} X^{-t} A & =\left(W^{*}\right)^{s} W^{s}+\left(Q^{*}\right)^{1 / 2} Z^{*}\left(W^{*} W\right)^{t / 2}\left(W^{*} W\right)^{-t}\left(W^{*} W\right)^{t / 2} Z Q^{1 / 2} \\
& =\left(W^{*}\right)^{s} W^{s}+\left(Q^{*}\right)^{1 / 2} Z^{*} Z Q^{1 / 2} \\
& =\left(Q^{*}\right)^{1 / 2}\left[\left(Q^{*}\right)^{-1 / 2}\left(W^{*}\right)^{s} W^{s} Q^{-1 / 2}+Z^{*} Z\right] Q^{1 / 2}=Q
\end{aligned}
$$

So $X=W^{*} W$ is a Hermite positive definite solution of Eq.(1).

Remark 1 When $\mathrm{s}=1$, the condition $W^{*} W=W W^{*}$ in Theorem 1 can be omitted.
Theorem-2-Eq.(1) has a Hermite positive definite solution if and only if there are unitary matrices $P, U_{2}$ and diagonal matrices $\Gamma>0, \Sigma \geq 0$, such that

$$
A=\left[\left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}\right]^{t /(2 s)} U_{2} \Sigma P Q^{1 / 2},
$$

where $\Gamma+\Sigma^{2}=I$. In this case, $X=\left(\left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}\right)^{1 / s}$ is a Hermite positive definite solution of Eq.(1).

Proof If Eq.(1) has a Hermite positive definite solution, then from Theorem 1, there is a nonsingular matrix $W$, such that $\psi A=\left(W^{*} W\right)^{t / 2} Z Q^{1 / 2}$, where $\left(W^{s} Q^{-1 / 2}\right)^{*}\left(W^{s} Q^{-1 / 2}\right)+Z^{*} Z=I$. Now let

$$
G=\binom{W^{s} Q^{-1 / 2}}{Z}
$$

then $G$ can be expanded into a unitary matrix

$$
\left(\begin{array}{cc}
W^{s} Q^{-1 / 2} U \\
Z & V
\end{array}\right)
$$

By CS decomposition, there are unitary matrices $U_{1}, U_{2}, P, V_{2}$ and diagonal matrices $K \geq 0, \Sigma \geq 0$ such that

$$
\left(\begin{array}{cc}
W^{s} Q^{-1 / 2} U \\
Z & V
\end{array}\right)=\left(\begin{array}{cc}
U_{1} & 0 \\
0 & U_{2}
\end{array}\right)\left(\begin{array}{cc}
K & -\Sigma \\
\Sigma & K
\end{array}\right)\left(\begin{array}{cc}
P & 0 \\
0 & V_{2}
\end{array}\right),
$$

where $K^{2}+\Sigma^{2}=I$, then $W^{s} Q^{-1 / 2}=U_{1} K P, Z=U_{2} \Sigma P$. $W$ is non-singular, so $K>0$. Let $\Gamma=K^{2}>0$, then $\Gamma+\Sigma^{2}=I$, moreover,

$$
\begin{aligned}
A & =\left(W^{*} W\right)^{t / 2} Z Q^{1 / 2}=\left(\left(Q^{*}\right)^{1 / 2} P^{*} K U_{1}^{*} U_{1} K P Q^{1 / 2}\right)^{t /(2 s)} U_{2} \Sigma P Q^{1 / 2} \\
& =\left[\left(Q^{*}\right)^{1 / 2} P^{*} K^{2} P Q^{1 / 2}\right]^{t /(2 s)} U_{2} \Sigma P Q^{1 / 2} \\
& =\left[\left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}\right]^{t /(2 s)} U_{2} \Sigma P Q^{1 / 2} .
\end{aligned}
$$

Conversely, if there are unitary matrices $P, U_{2}$ and diagonal matrices $\Gamma>0, \Sigma \geq 0, \Gamma+\Sigma^{2}=I$, such that

$$
A=\left[\left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}\right]^{t /(2 s)} U_{2} \Sigma P Q^{1 / 2},
$$

let $X=\left(\left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}\right)^{1 / s}$, then

$$
\begin{aligned}
X^{s}+A^{*} X^{-t} A= & \left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}+\left(Q^{*}\right)^{1 / 2} P^{*} \Sigma U_{2}^{*}\left(\left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}\right)^{t /(2 s)} \\
& \left(\left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}\right)^{-t / s}\left(\left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}\right)^{t /(2 s)} U_{2} \Sigma P Q^{1 / 2} \\
= & \left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}+\left(Q^{*}\right)^{1 / 2} P^{*} \Sigma U_{2}^{*} U_{2} \Sigma P Q^{1 / 2} \\
= & \left(Q^{*}\right)^{1 / 2} P^{*}\left(\Gamma+\Sigma^{2}\right) P Q^{1 / 2}=Q .
\end{aligned}
$$

So $X=\left(\left(Q^{*}\right)^{1 / 2} P^{*} \Gamma P Q^{1 / 2}\right)^{1 / s}$ is a Hermite positive definite solution of Eq.(1).

Remark 2 In Theorem 1 and Theorem 2, if we let $s=1, t=q \geq 1, Q=I$, then the conclusions are just Theorem 1 and Theorem 2 in [5]. That is, the results obtained in this paper are the generalization of [5].

Lemma 1([4]) Let $n \times n$ complex matrices $A \geq B>0$. If $\alpha \in(0,1]$, then $A^{\alpha} \geq B^{\alpha}>0$. And if $\alpha \in[-1,0)$, then $0<A^{\alpha} \leq B^{\alpha}$.

Theorem- 3- For- $0<s \leq 1,-t \geq 1$-,- if- Eq.(1) has a Hermite positive definite solution, then it must have a minimal Hermite positive definite solution $X_{S}$, moreover, consider the iterative method

$$
X_{0}=0, X_{k+1}=\left(A\left(Q-X_{k}^{s}\right)^{-1} A^{*}\right)^{1 / t}, k=0,1,2, \cdots
$$

the iterative sequence $\left\{X_{k}\right\}$ converges to the solution $X_{S}$.
Proof If $X$ is an arbitrary Hermite positive definite solution of Eq.(1), then $A^{*} X^{-t} A<Q$, with Lemma 1 we have $X>\left(A Q^{-1} A^{*}\right)^{1 / t}$. Consider the iterative sequence $\left\{X_{k}\right\}$.

$$
\begin{aligned}
X_{0} & =0<X, \\
X_{1} & =\left(A\left(Q-X_{0}^{s}\right)^{-1} A^{*}\right)^{1 / t}=\left(A Q^{-1} A^{*}\right)^{1 / t}<X,
\end{aligned}
$$

assume that $X_{k}<X$, then

$$
X_{k+1}=\left(A\left(Q-X_{k}^{s}\right)^{-1} A^{*}\right)^{1 / t}<\left(A\left(Q-X^{s}\right)^{-1} A^{*}\right)^{1 / t}=X
$$

so $X_{k+1}<X, k=0,1,2, \cdots$.
Now we will prove that the iterative sequence $\left\{X_{k}\right\}$ is monotonically increasing.

$$
\begin{aligned}
& X_{1}=\left(A Q^{-1} A^{*}\right)^{1 / t}>X_{0}=0, \\
& X_{2}=\left(A\left(Q-X_{1}^{s}\right)^{-1} A^{*}\right)^{1 / t}>\left(A\left(Q-X_{0}^{s}\right)^{-1} A^{*}\right)^{1 / t}=X_{1},
\end{aligned}
$$

assume that $X_{k}>X_{k-1}$, then

$$
X_{k+1}=\left(A\left(Q-X_{k}^{s}\right)^{-1} A^{*}\right)^{1 / t}>\left(A\left(Q-X_{k-1}^{s}\right)^{-1} A^{*}\right)^{1 / t}=X_{k}
$$

That is, the sequence $\left\{X_{k}\right\}$ is monotonically increasing and bounded above by $X$. Thus it converges to a Hermite positive definite matrix $X_{S}$, which is a solution of Eq.(1). For an arbitrary Hermite positive definite solution $X$, we have obtained that $X_{k}<X, k=0,1,2, \cdots$, then $X_{S} \leq X$. That is, $X_{S}$ is the minimal Hermite positive definite solution of Eq.(1).

Theorem 4 For- $0<t \leq 1,-s \geq 1$-,-if there is a real number $\alpha(\alpha>1)$, for which

$$
A^{*} Q^{-t / s} A<\frac{\alpha^{s}-1}{\alpha^{s+t}} Q
$$

then Eq.(1) has a Hermite positive definite solution.
Proof Consider the following iterative method

$$
X_{k+1}=\left(Q-A^{*} X_{k}^{-t} A\right)^{1 / s}, k=0,1,2, \cdots
$$

Choosing $X_{0}=Q^{1 / s}$, with Lemma 1 and the condition of this theorem we have

$$
\begin{aligned}
& X_{0}=Q^{1 / s}>\frac{1}{\alpha} Q^{1 / s} \\
& X_{1}=\left(Q-A^{*} X_{0}^{-t} A\right)^{1 / s}=\left(Q-A^{*} Q^{-t / s} A\right)^{1 / s}<Q^{1 / s}=X_{0}
\end{aligned}
$$

$$
X_{1}=\left(Q-A^{*} Q^{-t / s} A\right)^{1 / s}>\left(Q-\frac{\alpha^{s}-1}{\alpha^{s+t}} Q\right)^{1 / s}>\left(Q-\frac{\alpha^{s}-1}{\alpha^{s}} Q\right)^{1 / s}=\frac{1}{\alpha} Q^{1 / s}
$$

assume that $\frac{1}{\alpha} Q^{1 / s}<X_{k}<X_{k-1}$, then

$$
\begin{aligned}
& X_{\mathrm{k}+1}=\left(Q-A^{*} X_{k}^{-t} A\right)^{1 / s}<\left(Q-A^{*} X_{k-1}^{-t} A\right)^{1 / s}=X_{k} \\
& X_{\mathrm{k}+1}=\left(Q-A^{*} X_{k}^{-t} A\right)^{1 / s}>\left(Q-\alpha^{t} A^{*} Q^{-t / s} A\right)^{1 / s}>\left(Q-\alpha^{t} \frac{\alpha^{s}-1}{\alpha^{s+t}} Q\right)^{1 / s}=\frac{1}{\alpha} Q^{1 / s}
\end{aligned}
$$

by inductive method, we obtain

$$
\frac{1}{\alpha} Q^{1 / s}<X_{k+1}<X_{k}, k=0,1,2, \cdots .
$$

Hence the matrix sequence $\left\{X_{k}\right\}$ is monotonically decreasing, and is bounded below by $(1 / \alpha) Q^{1 / s}$, so $\left\{X_{k}\right\}$ converges to a Hermite positive definite solution of Eq.(1).

## References

[1] X.G.Liu, H.Gao. On the positive definite solutions of equation $X^{s}+A^{T} X^{-t} A=I_{n}$. Linear Algebra Appl, 2003, 368: 83-97.
[2] Yang Yueting. The Iterative Method for Solving Nonlinear Matrix Equation $X^{s}+A^{*} X^{-t} A=Q$. Applied Mathematics and Computation, 2007, 188: 46-53.
[3] Hasanov V I, Salah M.El-Sayed. On the positive definite solutions of nonlinear matrix equation $X+A^{*} X^{-\delta} A=Q$ ( $0<\delta \leq 1$ ). Linear Algebra Appl., 2006, 412: 154-160.
[4] Xuefeng Duan, Anping Liao. The Hermitian Positive Definite Solutions and its Perturbation Analysis of Matrix Equation $X+A^{*} X^{-q} A=Q(q \geq 1)$. Numerical Mathematics, 2008, 30: 280-288.(in Chinese)
[5] Jinfang Wang, Yuhai Zhang, Benren Zhu. The Hermitian Positive Definite Solutions of Matrix Equation $X+A^{*} X^{-q} A$ $=I(q>0)$. Numerical Mathematics, 2004, 26: 61-72.(in Chinese)
[6] J.C.Engwerda, A.C.M.Ran, A.L.Rijkeboer. Necessary and sufficient conditions for the existence of a positive definite solution of the matrix equation $X+A^{*} X^{-1} A=Q$. Linear Algebra Appl., 1993, 186: 255-275.
[7] Zhang Y H. On Hermitian positive definite solutionsof matrix equation $X+A^{*} X^{-2} A=I$. Linear Algebra Appl., 2003, 372: 295-304.
[8] Salah M.El-Sayed, Asmaam.Al-Dbiban.On positive definite solutions of the nonlinear matrix equation $X+A^{*} X^{-n} A=I$ Appl.Math.Comput., 2004, 151: 533-541.
[9] Ivan G.Ivanov. On positive definite solutions of the family of matrix equations $X+A^{*} X^{-n} A=Q$. J.Comput.Appl.Math., 2006, 193: 277-301.
[10] R. Bhatia. Matrix Analysis. Graduate Texts in Mathematics, Springer-Verlag, 1997.


[^0]:    * Corresponding author. Tel.: +86-0432-64608051; fax: $+86-0432-64608051$.

    E-mail address: liqingchun01@163.com

